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1) to consider the use of the frequency bands 17.7-19.7GHz(space-to-Earth) and 27.5-29.5GHz Earth-to-
space) by earth stations in motion communicating with geostationary space stations in the fixed-satellite
service and take appropriate action, in accordance with Resolution 158(WRC-15)
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pfd(0) = —124.7 (dB(W/(m?- 14 MHz))) for 0°<0<0.01°
pfd(0) =—120.9 + 1.9 - logio®0  (dB(W/(m?- 14 MHz))) for 0.01°<6<0.3°
pfd(6) =-116.2 + 11 - log100 (dB(W/(m?- 14 MHz))) for 03°<0<1°
pfd(6) =—-116.2 + 18 - log100 (dB(W/(m?- 14 MHz))) for 1°<0<2°
pfd(0) =—-117.9 +23.7 - logi100  (dB(W/(m?- 14 MHz))) for 2°<0<8°
pfd(0) =—-96.5 (dB(W/(m?- 14 MHz))) for 8°<0<90.0°
where 0 is the angle of arrival of the radio-frequency wave (degrees above the horizon);
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pfd(0) =—136.2 (AB(W/(m?- 1 MHz))) for 0°<0<0.01°
pfd(0)=—132.4+ 1.9 - logid  (dB(W/(m?- 1 MHz))) for 0.01°<0<0.3°
pfd(0) =—127.7 + 11 - logi®  (dB(W/(m?- 1 MHz))) for 03°<0<1°
pfd(0)=—127.7+ 18 - logi®  (dB(W/(m?- 1 MHz))) for 1°<0<12.4°
pfd(0) = —108 (dB(W/(m? - 1 MHz))) for 12.4° <0 <90°

where 0 is the angle of arrival of the radio-frequency wave (degrees above the horizon).
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